THSESAIBEDHEIOFT VAL ABRREDFEERR

AB QOFRBEHEE R
1=} SWE=FEF)IEHE  #Bam  Naom FH(ER)
1016 376 68 99 136 1695
AKBOFHRBEEEHROANE
(1) B3l
Bt p-q i T  AEDE
906 790 0 0
(2) ER A
EXMER 10K 101€ 201% 301% 401K 504%
34 74 208 444 294 285 223
601X 704% 801t 204% 1001% Wikl E AEDE
77 36 15 2 1 3 0
(3) AT 51
SLV=FET 391 EAE™ 45 ;&)IET 0
N 99 FEARTH 10 Jz LLET 0
AT 61 0t 18 /INIHT 0
o 130 $EETH 43 )I| SHET 1
fTHEM 15 #@)IlmH 11 HRHET 0
BRh 0 AEMH 9 JELLIET 1
FrR™ 130 db AT 20 EEHHE 0
R AE 32 J\i#ith 5 f&$EET 0
fnZE™ 13ELR™ 23 5 EFHT 0
KEM 0 =4 2 RIFHET 0
R /NITG ] 0 &M 20 /|NEEEFHT 0
EHBEH 80 IJRFm 25 BFLRHF 0
it 63 EFH 10 EEHT 0
P& 0 #8v BT 8 #4)I|HT 0
JEET 30 AT 13 L EHT 0
FAT 24 Fh 6 ZFEHET 7
LE™ 55 S\CAE 34 ECHT 4
Bt 19 BRE™T 9 R FHT 12
AT 78 {RZEHT 11 #RHET 9
BT 0 =35HT 3 B4} 35
FHEM™ 4 E = | LHET 8 AESLE 0
AR 67 A HET 2

8/18 SWV=FHHRIL RERBORYTIT
HHB M E L (1696—1695) SLVF-F T (377—376)
mHETHT A S0V=FEH (392—391)



